Engineering Mechanics

Methods of Resolution

[TO SOLVE NUMERICALS BASED ON
RESOLUTION]

Steps:
1. Resolve all the forces horizontally
>Fu = Addition of all horizontal fonces

Sign convention:

»

X-axis
2. %ﬁ% all the forces vertically

v = Addition of all vertical forces.

Sign convention:
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3. Resultant ‘R’ is given by,

R = \/(Z:FH)2 +(ZFV)2

4. tanf6 = ZFV

2. Fs

e (S

How to add forces

Coordinates
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Sign Conventions

YFu = Addition of all horizontal forces
—> +

— —

YFv = Addition of all vertical forces

&

+_

1. Determine XFu= ? XFyv %?

30KN@» — > 50 KN
20% Sk | 7OKNA

2 —_—> <—— 40 KN

——> 30 KN
é) 30 T <«—30KN

JIOKN —> |2okn —>
50 KN 100 KN




Engineering Mechanics

YFu= ?ZFV= ?

XFa=+50-40+25-30+ 30+ 50 + 100 -
30

>Fu = 155kN

SFy=+70+20-5-10 + 20
>Fv = 95kN







